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/*5 60

*/

#i ncl ude <stdio. h>
int mai n(voi d)

{

int i, sun¥0;

int vx[5];

for(i=0; i<, i+ {
printf("o ")
scanf ("98d", &x[i]);
sum+= vx[i];

}

i f((sunib)>=60) {
printf(" ¥n");

}

return(0);
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/*5 */
“5 %.2f”
/*5 60
*/
#i ncl ude <stdio. h>
#defi ne NUMBER 5 /* */
#defi ne BOLNDARY 60 /* */
int mai n(voi d)
{
int i, sun¥0;
int vx[N.MBER] ;
for(i=0; i<NLMBER i+ {
printf("o ")
scanf ("98d", &x[i]);
sum+= vx[i];
}
i f((sum NUMBER) >=BAUNDARY) {
printf(" ¥n");
}
return(0);
}
2
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[FRE o]
001 #include <stdic.h>
2
003 int maintvoid)
004 {
005 int i, sum=0;
008 int wdE];
007
005 forl=0; K i+ |
e} printf WS ;7 1), 60 18 12
010 scanfl %3d” BT
011 sum += vodlil;
13
014 ifteum/53=600 {
rint A f
016 Tele {
017 printf R EHEYR
22 46
019 return(0);
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